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Please make sure that the printed pages in this question paper are 15 in number
and it contains 34 questions.
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The Code No. and on the right side of the question paper should be written by
the candidate on@e front page of the answer-book.

o FYF F9T FH FV i@ Y& HT G Yee, 9T H B AT [
Before beginning to answer a question, its Serial Number must be written.
o FUT-Yikw & &9 § @l g9+ T 881

Don’t leave blank page/pages in your answer-book.

o FTT-YRam & RFT FF T e TE A o sravaEagar & @ G fiar Fae T
PIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

103/(Set : B) P.T.O.

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

(2) 103/(Set : B)
o TR ST AT To JeT-UH YT Haed [@ T To & SARFT FIT-YH Y o FE A T
ford oife dmlouss o7t & IR GT e FEIT FT R T )
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o YT F97 % FuT 37 @ {4 & GEAlEd FY @ [ Fe7-0F {7 T 78 8, e # I 59
T 7 g 4 arar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @4 geT sfard &

All questions are compulsory.

(i) 3G T7-TF § FT 34JHT & TN G G - 3, § FHT A TR TTE

This question\pdaper consists of 34 questions in all which are divided into
four Sections\::'A, B, Cand D :

% -3 : 57 @€ 41 7 16 7% FT 16 J97 &, J9% J97 1 5% % &/
Section~ A: There are 16 questions from 1 to 16, each of 1 mark.

G- §: 39 % F 17 722 7% Z7 6 J97 &, J9% J97 2 9% # &I
Section - B : There are 6 questions from 17 to 22, each of 2 marks.

G - ;59 G5 723 § 30 7% 7 8 97 &, J9% J97 4 5 & &/

Section — C : There are 8 questions from 23 to 30, each of 4 marks.
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G - 7357 @€ 731 @34 T 7T 4 97 8, J9% F97 5 3 # &1

Section — D : There are 4 questions from 31 to 34, each of 5 marks.
(i) G- 7 & go7 & aanr® fawey /7 T 81 I @ G 597 B GAA 8

Section - D contains two questions where internal choice have been

provided. You have to choose one of them.

gus — &
SECTION - A
Q
S
1. e 3 & B e ¥ :
N

a) 16 @$ (B) 9
(©) <10 (D) 0.35

Which of the following is not a rational number ?

(a) V16 B) 9
(C) 10 (D) 0.35
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2. I 26X 91 % H.C.F. 138, @ S L. C. M. B :

(A) 184 (B) 183
(C) 182 (D) 181
IfH. C. F. of 26 and 91 is 13, then their L. C. M. is :
(A) 184 (B) 183

(C) 182 (D) 181

3. |RE x2+7x+10 B LTIB ¢ :

@A) (2,9 (B) (-2, -9)
€ 2,5) (D) (2, -5)
S
The Zeroes of Polynon%@)x +7x+10 are:
&
A @9 N B) (-2,-5)
@$
© 2,5) (D) (2, -5)

4. =1 7 BF-ar FHEmer faam § 7
(A)  (x+1)% =2(x-3)
(B) (x+4)> =3x(x+1)
(C) 4x%+5=(2x+7)>

(D) (x=2) e+ 1) = (x=1) (x+3)
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Which of the following is a quadratic equation ?
(A)  (x+1)? =2(x-3)

(B) (x+4)° =3x(x+1)

(C) 4x%+5=(2x+7)>

(D) (x=2) (x+ 1) =(x~1) (x+3)

5. a® BTN & H x— 2y + 5= 0Tq° 3x— 6y + 10 = 0 & & BAT 1
(A) oTfEdT o & (B) iE & e
(C) STURMT % & (D) T & HiE T

K&Q
Solution of a pair of li@ equations x— 2y + 5 =0 and 3x- 6y + 10 = 0 will be :
»®

(A) Unique so&@m (B) No solution
(C) Infinitely many solutions (D) None of these

6. A.P.2,7,12,... % 103 T ¥ : 1
(A) 40 (B) 42
(C) 45 (D) 47
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The 10th term of the A. P. 2, 7, 12, ..... is :

(A) 40 (B) 42
(C) 45 (D) 47

7. A% fHET A P. @ dEw X 797 U AT 5 X 9 ¥, O IGe 1191 U ® ¢ 1
(A) 13 B) 14
(C) 15 (D) 16

If 3rd and 7th term of an A. P. are 5 and 9 respectively, then.its 11th term is :

A) 13 (B) 14
(C) 15 (D) 16
$
8. MW ¥ DE || BCRI A%@?}Qﬁ ST it A 1

$Q\QQ} A.sﬁfﬁ
7.2 9 %.4@'43[
B

C
A
In figure DE ||BC. Find the length of AD. /\1-8 cm
D E
7.2 cm 5.4 cm
B C
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9. I & THEY PIYS & B 9 : 16 % UK H &, o ITebl I oAl b1 STgaw B : 1

(A) 81:256 (B) 9:16
(C) 3:4 (D) 3: 4

If areas of two similar triangles are in the ratio 9 : 16, then ratio of their
corresponding sides are :

(A) 81:256 (B) 9:16
©) 3:4 (D) 3:44
10. fgell (-5, 7) AR (-1, 3) & 99 & g4 B : 1
() 42 (B) 342
(C) 5v2 (D) 34
&
The distance between@ points (-5;7) and (-1, 3) is :
N
Q
(a) 442 @\ (B) 342
$
(C) 542 (D) 34

11. 39 forg & frderish, o frgadl (4, —1) @1 (-2, -3) & ST il WETS &H ARE &9 q
2: 1% Igu § i Hear &, € 1

5 5
@A) [o, gj B (_5, oj

7 7
@ [0-3) o [59)
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The coordinates of the point which divides the line segment joining the points
(4, -1) and (-2, —3) in the ratio 2 : 1 internally are :

12. 5sec’ A-5tan” A % W ¥ : 1
(A) 1 (B) 2
€ 9 (D) 5
$
The value of 5sec? A %{g&nQ A s
(A 1 N B) 2
(C) 9 @$ (D) 5
13. g9 &I & [qgall I Hicese $HF drl &1 & ... Fd ol 1
A line intersecting a circle in two points is called a ............. .
14. 6 H A BT 3 T 99 P s ¢ 1
nr 0 2nr 6
A 180° (B) 180°
nr 0
© oo D) & & B T
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Length of an arc of a sector of angle 0 is :

nr 0 2nr ©
(A) s (B) .
180 180
(@) nr 9 (D) None of these

360°

15. IR % g P& O %% 9 fhehl g0 W PA &R PB @sR@EM &R 70° & &9 T gl

g, @ ZPOA S & : 1
(A) 110° (B) 55°
(C) 60° (D) 70°

Q

Q
If tangents PA and P%?;Bm a point' P to a circle with centre O are inclined to
each other at an ak\%é' of 709, then ZPOA is equal to :

(A) 110° @QQ (B) 55°
(C) 60° (D) 70°
16. Brer 2.8 ¥ A O & M B IO A © 1
(A) 98.98 I (B) 98.56 Q41
(C) 97.56 a1 (D) 98.38 qHI
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Surface area of sphere of radius 2.8 cm is :

(A) 98.98 cm? (B) 98.56 cm?
(C) 97.56 cm? (D) 98.38 cm?
gog -
SECTION - B
17. 33T &% 3++/5 TH UREy e 2 2

Show that 3+ \/g is an irrational number.

$
&
N L
18.@@%&@@%@%@@%%6%30%%31:—1@?2% 2
Q

Find the qua@c polynomial, the sum and product of whose zeroes are

—% and 1 respectively:
19. k & 9 AN & fQ Fr=faRad WRas Giieon & I & $i5 &0 787 o 2

3x+y=1

2k - 1)x+ (k- 1)y =2k + 1
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For which value of k will the following pair of linear equations have no
solution ?

3x+y=1
2k-1)x+(k-1y=2k+1

20. GRGATNEHE TS &5 § 5 T & 0 W 5, g0 )l W@ & d95 4 & 21 g
%l e S i) 2
The length of a tangent from a point A at a distance 5 cm from the centre of the
circle is 4 cm. Find the radius of the circle.

21. k% 8 A9 & foe fEEa @@ 2x2 +kx+3=0 & I9 SOECEN ? 2
For what value of k the roots of the quadratic”equation 2x2 +kx+3=0 are
equal ?

&
22, szqﬁfa%aaﬁw'g@*ﬁ@mw%ﬂs@ﬁ 49 UH g R ST 81 AW
SIESE drell Ol ST {@% EARIRENIRE ISR E 2
@
One card is &Wn from a well-shuffled deck of 52 playing cards. Find the
probability of getting a King of red colour card.
gue -9
SECTION -C

23. IR AATT 1 TSI TN X AF 1 90 &, A B 1 & 9 Sl 81 AR & F 1 &8 &,
a‘rqs%s‘raﬁ%w%fﬁr—vramaﬁﬁm 4
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24.

25.

26.

27.

(12) 103/(Set : B)

If we add 1 to the numerator and subtract 1 from the denominator, a fraction

reduces to 1. It becomes % if we only add 1 to denominator. Find the fraction.
=t feEma qeiieher & ool 1 Sl S B A g T 8, @ e ol i 4
9x2 —6x+1=0

Find the nature of roots of the following quadratic equation. If real root possible,

then solve it :

9x2 —6x+1=0

A ofet Al e ded 6 @ fawea § 7 4

How many three digit numbers are divisible by 6 ?

"~

18ﬁﬁ@@ﬁfﬂt@%@ﬁﬁ%@ﬂﬂ@%@gw%wmww
RO G2 8 qOIRW 3 EF B o & G2 @ Rl g8 W e e B i o @

mﬁsmqﬁa@dﬁ% 4

A wire attached to a wvertical pole of height 18 m is 24 m long and has a stake
attached to the other end. How far from the base of the pole should the stake be

driven so that wire will be taut ?

R& AM 719 Ak, ARk g A(7, -2), B(5, 1) ¥R C(3, R) WE R 4

Find the value of R if the points A(7, -2), B(5, 1) and C(3, R) are collinear.
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28. IR A, BR CRIYS ABC & i &, o famsy fF : 4
(A+Bj . C
cos =sin—
2
If A, Band C are interior angles of a triangle ABC, then show that :
(A+Bj . C
cos =sin—
2 2
29. 10 §H BT @ & g9 @ Pis ST B G 60° PN HOT TR ol G HoUES B AAEA
S it 4
A chord of a circle of radius 10 cm subtends an angle of 60° at the centre. Find
the area of the corresponding sector.
™
30. @éﬁﬁ3aﬁraﬁ?5§%ﬁﬁ%%‘| WA 7 q AT Agesa b S B SE
e 8 f6 e &QQ} 4
. S
(i) e,
(ii) < Tl B2
A box contain 3 red balls and 5 black balls. A ball is drawn at random from the
bag. What is the probability that the ball drawn is :
(i red,
(i) notred?
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31.

32.

33.
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gug - g

SECTION - D
7 Hlo A Mo B REX q UF dad Fa¥ & R H IAT R 45° & AN 36 UE H
T BT f 45° 3| AT B HAR AT B 5

From the top of a 7 m high building, the angle of elevation of the top of a cable
tower is 45° and the angle of depression of its foot is also 45°. Determine the
height of the tower.

YT
OR
g #ivT :
1/M =secA+tanA
1-sinA
Prove that : K&Q

L+sinA
Q(b' 1/ =secA+tanA
\ 1-sinA

5%%@%%@@%&@%@9ﬁgﬁaﬁ@ﬁgﬁﬁwmﬁ@wﬁ
I HIOTT T I g A 5

Draw a circle of radius 5 cm. From a point 9 cm away from its centre, construct

the pair of tangents to the circle and measure their lengths.

el Gl & 50 =il 1 A worgd 1 ded R T 81 Wen AN Heigdl S I 05

3f® Ford (B9 #) | 500-520 | 520-540 | 540-560 | 560-580 | 580-600

JTeht B = 12 14 8 6 10
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34.

(15) 103/(Set : B)

The following table gives distribution of daily wages of 50 workers of a factory.

Find the mean daily wages of workers :

Daily Wages (in ) 500-520 | 520-540 | 540-560 560-580 580-600

Number of Workers 12 14 8 6 10

S H Th A Uh 9 & AR F 81 e AN A W Uh-Th e & g Bl X
HHA B dag 14 Bl B ol IH e 5 PRl 31 36 IS &% Al Sl 5

A medicine capsule is in the shape of a cylinder with two hemisphere struck to
each of its ends. The length of entire capsule is 14 mm and diameters of the

capsule is 5 mm. Find its surface area.

W
ﬁws.sﬁa%@ﬁ%%@ﬁﬁﬁﬁwﬁWSWa@@W%wﬁmw
Bl A B AR T i

A metallic sphere of radius 3.5 cm is melted and recast into the shape of a

cylinder of radius 'S cm. Find the height of the cylinder.
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